Limits Practice ... Set 1

Released Multiple Choice Questions - Limits
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The figure below shows the graph of a function f with domain 0 < x < 4. Which of the following statements an
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7. The function f is continuous on the closed interval [0,2] and has values that are given in the table. The equation
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9. The graph of the function f is shown in the figure to the right.

Which of the following statements about f is true?
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If the function f is continuous for all real numbers and if f(x) = e when x = —2, then f(—2) =
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If lim f(x) = L, where L is a real number which of the following must be true?
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